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Example

1. What is the distance between A (4,0) and B (8, 0).

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_GjcpwzHU48wW
https://dl.doubtnut.com/l/_Hqc0HHy6DUqQ


2. A and B are two points given by (8, 3), (-4, 3). Find

the distance between A and B.

Watch Video Solution

3. Let’s find the distance between two points A(4,

3) and B(8, 6)

Watch Video Solution

4. Show that the points A (4, 2), B (7, 5) and C (9, 7)

are three points lying on a same line.

Watch Video Solution

https://dl.doubtnut.com/l/_Hqc0HHy6DUqQ
https://dl.doubtnut.com/l/_KLqdEGmOtE9o
https://dl.doubtnut.com/l/_27hnyUzLlGdW


5. Do the points (3, 2), (-2, -3) and (2, 3) form a

triangle?

Watch Video Solution

6. Show that the points

 are the

vertices of a squre.

Watch Video Solution

(1, 7), (4, 2), ( − 1, − 1) and ( − 4, 4)

https://dl.doubtnut.com/l/_27hnyUzLlGdW
https://dl.doubtnut.com/l/_h2J18PbOnpu7
https://dl.doubtnut.com/l/_VtaKwN683kXy


7. State whether the following triangles are

congruent or not? Give reasons for your answer. 

Watch Video Solution

8. Find the a relation between x and y such that

the point (x, y) is equidistant from the points

.

W t h Vid S l ti

(7, 1) and (3, 5)

https://dl.doubtnut.com/l/_eWqb48LVWLcj
https://dl.doubtnut.com/l/_s6y06QqK2NWi


Watch Video Solution

9. Find a point on the Y-axis which is equidistant

from both the points A(6, 5) and B(– 4, 3).

Watch Video Solution

10. Find the coordinates of the point which divides

the line segment joining the points (4, -3) and (8,

5) in the ratio 3 : 1 internally

Watch Video Solution

https://dl.doubtnut.com/l/_s6y06QqK2NWi
https://dl.doubtnut.com/l/_pwLLLgAMLX97
https://dl.doubtnut.com/l/_ZdXMfP0WXhfX


11. Find the mid point of the line segment joining

the points (3, 0) and (-1, 4)

Watch Video Solution

12. Find the coordinates of the points of trisection

of the line segment joining the points A(2,-2) and

B(-7, 4).

Watch Video Solution

https://dl.doubtnut.com/l/_QiuF90r2I8xk
https://dl.doubtnut.com/l/_C05g3OcdNCKC


13. Find the centroid of the triangle whose vertices

are (3, -5), (-7, 4) and (10, -2).

Watch Video Solution

14. In what ratio does the point (– 4, 6) divide the

line segment joining the points A(– 6, 10) and B(3,

– 8)?

Watch Video Solution

https://dl.doubtnut.com/l/_yv8irzUmvFUW
https://dl.doubtnut.com/l/_R92lfkqHPEme


15. Find the ratio in which the y-axis divides the

line segment joining the points (5, -6) and (-1, -4).

Also find the point of intersection.

Watch Video Solution

16. Show that the points A(7, 3), B(6, 1), C(8, 2) and

D(9, 4) taken in that order are vertices of a

parallelogram.

Watch Video Solution

https://dl.doubtnut.com/l/_hZ4tvBiIfEZu
https://dl.doubtnut.com/l/_WN9aFS19KrTa


17. If the points

 are the

vertices of a parallelogram, taken in order. Find the

value of P.

Watch Video Solution

A(6, 1), B(8, 2), C(9, 4) and D(P , 3)

18. Find the area of a triangle whose vertices are (1,

-1), (-4, 6) and (-3, -5).

Watch Video Solution

https://dl.doubtnut.com/l/_HTW7EBnPHo4n
https://dl.doubtnut.com/l/_atkxeOdVIcia


19. Find the area of a triangle formed by the points

A(5, 2), B(4, 7) and C(7, -4).

Watch Video Solution

20. If

are the vertices of a quadrilateral, find the area of

the quadrilateral ABCD.

Watch Video Solution

A( − 5, 7), B( − 4, − 5), C( − 1, − 6) and D(4, 5)

https://dl.doubtnut.com/l/_zlEwx7C8Pns8
https://dl.doubtnut.com/l/_DkZcsi5BSoi3


21. The points (3, -2) (-2, 8) and (0, 4) are three

points in a plane. Show that these points are

collinear.

Watch Video Solution

22. Find the value of ‘b’ for which the points A(1, 2),

B(-1, b) and C(-3, -4) are collinear .

Watch Video Solution

https://dl.doubtnut.com/l/_wkWkaFKglrvM
https://dl.doubtnut.com/l/_uGcZT2z7FCqy


Exercise 7 1

23. The end points of a line segment are (2, 3), (4,

5). Find the slope of the line segment.

Watch Video Solution

24. Determine x so that 2 is the slope of the line

passing through P(2, 5) and Q(x, 3).

Watch Video Solution

https://dl.doubtnut.com/l/_26kFX9nGrgES
https://dl.doubtnut.com/l/_k4k8lvtyGQyr


1. Find the distance between the pair of points 

(2, 3) and (4, 1)

Watch Video Solution

2. Find the distance between the pair of points 

(-5, 7) and (-1, 3)

Watch Video Solution

3. Find the distance between the pair of points 

(-2, -3) and (3, 2)

https://dl.doubtnut.com/l/_MX6yLb67PZPH
https://dl.doubtnut.com/l/_vapVmrUBCPSv
https://dl.doubtnut.com/l/_cNluwMP5tyJ6


Watch Video Solution

4. Find the distance between the pair of points 

(a, b) and (-a, -b)

Watch Video Solution

5. Find the distance between the points (0, 0) and

(36, 15).

Watch Video Solution

https://dl.doubtnut.com/l/_cNluwMP5tyJ6
https://dl.doubtnut.com/l/_2tnGpDE3EUZ1
https://dl.doubtnut.com/l/_QybP22YBfxF9


6. Verify whether the points (1, 5), (2, 3) and (-2, -1)

are collinear or not.

Watch Video Solution

7. Check whether (5, -2), (6, 4) and (7, -2) are the

vertices of an isosceles triangle.

Watch Video Solution

8. Find the value of a and b, given that p || q and r

|| s. 

https://dl.doubtnut.com/l/_RKTarZ6GlTdz
https://dl.doubtnut.com/l/_qeQDO6AtgHxy
https://dl.doubtnut.com/l/_s8iVzohbFss0


Watch Video Solution

9. Show that the following points form an

equilateral triangle A(a, 0), B(-a, 0), C(0, a 

Watch Video Solution

√3)

https://dl.doubtnut.com/l/_s8iVzohbFss0
https://dl.doubtnut.com/l/_UutL6bklOC0i


10. Prove that the points (-7, -3), (5, 10), (15, 8) and

(3, -5) taken in order are the corners of a

parallelogram.

Watch Video Solution

11. Show that the points (-4, -7), (-1, 2), (8, 5) and (5,

-4) taken in order are the vertices of a rhombus.

Find its area. 

(Hint : Area of rhombus  product of its

diagonals)

Watch Video Solution

= ×
1

2

https://dl.doubtnut.com/l/_Jl9lQUMnD6zQ
https://dl.doubtnut.com/l/_vL5eOj5sMapU


12. Name the type of quadrilateral formed, if any,

by the points, and give reasons for your answer. 

(-1, -2), (1, 0), (-1, 2), (-3, 0)

Watch Video Solution

13. Name the type of quadrilateral formed, if any,

by the points, and give reasons for your answer. 

(-3, 5), (3, 1), (1, -3), (-5, 1)

Watch Video Solution

https://dl.doubtnut.com/l/_vL5eOj5sMapU
https://dl.doubtnut.com/l/_uA90r4ZWUFgh
https://dl.doubtnut.com/l/_HQzRKQrAkscm


14. Name the type of quadrilateral formed, if any,

by the points, and give reasons for your answer. 

(4, 5), (7, 6), (4, 3), (1, 2)

Watch Video Solution

15. Find the point on the X-axis which is

equidistant from (2, -5) and (-2, 9).

Watch Video Solution

https://dl.doubtnut.com/l/_s0FnmTwMbsnP
https://dl.doubtnut.com/l/_sEOngEJ4bLFu


16. If the distance between two points (x, 7) and (1,

15) is 10, find the value of x

Watch Video Solution

17. Find the values of y for which the distance

between the points P(2, -3) and Q(10, y) is 10 units.

Watch Video Solution

18. Find the radius of the circle whose centre is (3,

2) and passes through (-5, 6).

https://dl.doubtnut.com/l/_7gOQIxsaXsSM
https://dl.doubtnut.com/l/_NG1ZXCxpk805
https://dl.doubtnut.com/l/_9J9XXmwnFHdG


Watch Video Solution

19. Can you draw a triangle with vertices (1, 5), (5, 8)

and (13, 14) ? Give reason

Watch Video Solution

20. Find a relation between x and y such that the

point (x, y) is equidistant from the points (-2, 8)

and (-3, -5)

Watch Video Solution

https://dl.doubtnut.com/l/_9J9XXmwnFHdG
https://dl.doubtnut.com/l/_wMnvgYUARPew
https://dl.doubtnut.com/l/_iw8tepO505dk


Exercise 7 2

1. Find the coordinates of the point which divides

the line segment joining the points (-1, 7) and (4,

-3) in the ratio 2:3 .

Watch Video Solution

2. Find the coordinates of the points of trisection

of the line segment joining (4, -1) and (-2, -3).

Watch Video Solution

https://dl.doubtnut.com/l/_AlokY3ekr6H1
https://dl.doubtnut.com/l/_yUpqwmab9oxL
https://dl.doubtnut.com/l/_zd7REqazKvIH


3. Find the ratio in which the line segment joining

the points (-3, 10) and (6, -8) is divided by (-1, 6) .

Watch Video Solution

4. If (1, 2), (4, y), (x, 6) and (3, 5) are the vertices of a

parallelogram taken in order, find x and y.

Watch Video Solution

5. Find the coordinates of a point A, where AB is

the diameter of a circle whose centre is (2, -3) and

B is (1, 4).

https://dl.doubtnut.com/l/_zd7REqazKvIH
https://dl.doubtnut.com/l/_niQRxdA7ZrbL
https://dl.doubtnut.com/l/_QSdMGku0FMTB


Watch Video Solution

6. If A and B are (-2, -2) and (2, -4) respectively, find

the coordinates of P on AB such that AP  AB.

Watch Video Solution

=
3

7

7. Find the coordinates of points which divide the

line segment joining A(-4, 0) and B(0, 6) into four

equal parts.

Watch Video Solution

https://dl.doubtnut.com/l/_QSdMGku0FMTB
https://dl.doubtnut.com/l/_XJBSg2zdr48M
https://dl.doubtnut.com/l/_I6ewNAwSxyTG
https://dl.doubtnut.com/l/_VdhO4tddfotu


8. Find the coordinates of the points which divides

the line segment joining A(-2, 2) and B(2, 8) into

four equal parts.

Watch Video Solution

9. Find the coordinates of the point which divides

the line segment joining the points (a + b, a - b)

and (a - b, a + b) in the ratio 3 : 2 internally

Watch Video Solution

https://dl.doubtnut.com/l/_VdhO4tddfotu
https://dl.doubtnut.com/l/_BTiC41c9VCcN


10. Find the coordinates of centroid of the triangle

with vertices: 

-1, 3), (6, -3) and (-3, 6)

Watch Video Solution

11. Find the coordinates of centroid of the triangle

with vertices: 

(6, 2), (0, 0) and (4, -7)

Watch Video Solution

https://dl.doubtnut.com/l/_AEdVJ0VUWPPn
https://dl.doubtnut.com/l/_lehmDMXY9Eda


Exercise 7 3

12. Find the coordinates of centroid of the triangle

with vertices: 

(1, -1), (0, 6) and (-3, 0)

Watch Video Solution

1. Find the area of the triangle vertices are 

(2, 3) (-1, 0), (2, -4)

Watch Video Solution

https://dl.doubtnut.com/l/_v4gnJrOlP7ua
https://dl.doubtnut.com/l/_i8LkAj94Pba5
https://dl.doubtnut.com/l/_EuG3BmieYWR3


2. Find the area of the triangle vertices are 

(-5, -1), (3, -5), (5, 2)

Watch Video Solution

3. Find the area of the triangle vertices are 

(0, 0), (3, 0) and (0, 2)

Watch Video Solution

4. Find the value of ‘K’ for which the points are

collinear 

https://dl.doubtnut.com/l/_EuG3BmieYWR3
https://dl.doubtnut.com/l/_Uqx2WkZn3KQD
https://dl.doubtnut.com/l/_N34XYyvw5Gc5


(7, -2) (5, 1) (3, K)

Watch Video Solution

5. Find the value of ‘K’ for which the points are

collinear 

(8, 1), (K, -4), (2, -5)

Watch Video Solution

6. Find the value of ‘K’ for which the points are

collinear 

(K, K) (2, 3) and (4, -1).

https://dl.doubtnut.com/l/_N34XYyvw5Gc5
https://dl.doubtnut.com/l/_i6qLVUGlnIUM
https://dl.doubtnut.com/l/_BspGrvc5feIO


Watch Video Solution

7. Find the area of the triangle formed by joining

the mid-points of the sides of the triangle whose

vertices are (0, -1), (2, 1) and (0, 3). Find the ratio of

this area to the area of the given triangle.

Watch Video Solution

8. Find the area of the quadrilateral whose

vertices, taken in order, are (-4, -2), (-3, -5), (3, -2)

and (2, 3).

https://dl.doubtnut.com/l/_BspGrvc5feIO
https://dl.doubtnut.com/l/_EbQquYhrAowu
https://dl.doubtnut.com/l/_FrnhNV63Wm44


Exercise 7 4

Watch Video Solution

9. Find the area of the triangle formed by the

points (2, 3), (6, 3) and (2, 6) by using Heron’s

formula

Watch Video Solution

1. Find the slope of the line passing through the

given two point 

(4, -8) and (5, -2)

https://dl.doubtnut.com/l/_FrnhNV63Wm44
https://dl.doubtnut.com/l/_9G9v9FfKPljX
https://dl.doubtnut.com/l/_r4dxSvwjI6BZ


Watch Video Solution

2. Find the slope of the line passing through the

given two point 

(0, 0) and 

Watch Video Solution

(√3, 3)

3. Find the slope of the line passing through the

given two point 

(2a, 3b) and (a, -b)

Watch Video Solution

https://dl.doubtnut.com/l/_r4dxSvwjI6BZ
https://dl.doubtnut.com/l/_Tdl3VcIXBx8w
https://dl.doubtnut.com/l/_yWowc2y8Lnpe


4. Find the slope of the line passing through the

given two point 

(a, 0) and (0, b)

Watch Video Solution

5. Find the slope of the line passing through the

given two point 

A(-1.4, -3.7), B(-2.4, 1.3)

Watch Video Solution

https://dl.doubtnut.com/l/_yWowc2y8Lnpe
https://dl.doubtnut.com/l/_x2y5ef8zVOJB
https://dl.doubtnut.com/l/_nRwdcPqSnUYu
https://dl.doubtnut.com/l/_epJSJyxVPPKj


6. Find the slope of the line passing through the

given two point 

A(3, -2), B(-6, -2)

Watch Video Solution

7. Find the slope of the line passing through the

given two point 

Watch Video Solution

A( − 3 , 3), B( − 7, 2 )
1

2

1

2

https://dl.doubtnut.com/l/_epJSJyxVPPKj
https://dl.doubtnut.com/l/_tvWzenduX6xg


Optional Exercise

8. Find the slope of the line passing through the

given two point 

A(0, 4), B(4, 0)

Watch Video Solution

1. Centre of a circle Q is on the Y-axis. The circle

passes through the points (0, 7) and (0, -1). If it

intersects the positive X-axis at (P, 0), what is the

value of ‘P’?

https://dl.doubtnut.com/l/_s8io827UKwB3
https://dl.doubtnut.com/l/_hv3M2NFjFzcp


Watch Video Solution

2. A triangle ABC is formed by the points A(2, 3),

B(-2, -3), C(4, -3). What is the point of intersection

of the side BC and the bisector of angle A?

Watch Video Solution

3. The side BC of an equilateral triangle DABC is

parallel to X-axis. Find the slopes of the lines along

sides BC, CA and AB.

Watch Video Solution

https://dl.doubtnut.com/l/_hv3M2NFjFzcp
https://dl.doubtnut.com/l/_Z7QJzxAX7zYW
https://dl.doubtnut.com/l/_qacl35TfydW6


Try This

4. Find the area of the triangle formed by the lines

.

Watch Video Solution

y − x = 0, x + y = 0  and x − k = 0

1. Where do these following points lie (0, -3), (0, -8),

(0, 6) and (0, 4) on coordinate plane?

Watch Video Solution

https://dl.doubtnut.com/l/_WKmPhWUro8MU
https://dl.doubtnut.com/l/_Tqhj74XLLWgg


2. What is the distance between (0, -3), (0, -8) and

justify that the distance between two points on Y-

axis is  on coordinate plane?

Watch Video Solution

∣∣y
2 − y1∣∣

3. Find the distance between points ‘O’ (origin) and

‘A’ (7, 4).

Watch Video Solution

https://dl.doubtnut.com/l/_E4oQKb2aVdbT
https://dl.doubtnut.com/l/_74RGct1IL9G9


4. Find the distance between A(1, -3) and B(-4, 4)

and rounded to two decimal

Watch Video Solution

5. AD is the median on BC. Find the coordinates of

the point D

Watch Video Solution

https://dl.doubtnut.com/l/_nObSyshJWp4V
https://dl.doubtnut.com/l/_znZNzK84wHnz


6. Complete the table 

Watch Video Solution

7. Find the coordinates of points Q and R on

medians BE and CF respectively such that
 BQ:CF

=2:1 and CR:RF =2:1​

Watch Video Solution

https://dl.doubtnut.com/l/_LQarLBS2NMx6
https://dl.doubtnut.com/l/_jNUcGglFzGSA
https://dl.doubtnut.com/l/_vR9tp60Ii0gv


8. Let A(4,2) B(6,5) and C(1,4)be the vertices of

triangle. What do you observe? Justify that the

point that divides each median in the ratio 2 : 1 is

the centriod of a triangle.

Watch Video Solution

9. The vertices of a triangle have integer co-﻿

ordinates then the triangle cannot be

Watch Video Solution

https://dl.doubtnut.com/l/_vR9tp60Ii0gv
https://dl.doubtnut.com/l/_GS6XhrCuW1qF


10. Take a point A on X-axis and B on Y-axis and find

area of the triangle AOB. Discuss with your friends

how they do it?

Watch Video Solution

11. Find the area of the square formed by the

points (0, -1), (2, 1) (0, 3) and (-2, 1) as vertices.

Watch Video Solution

https://dl.doubtnut.com/l/_yvpuIQ9Bv1rS
https://dl.doubtnut.com/l/_kTQQmQ94g8Hp


12. Find the slope of  , where 

A(2, 1), B(2, 6)

Watch Video Solution

¯̄̄ ¯̄¯AB

13. Find the slope of  , where 

A(-4, 2), B(-4, -2)

Watch Video Solution

¯̄̄ ¯̄¯AB

14. Find the slope of  , where 

A(-2, 8), B(-2, -2)

¯̄̄ ¯̄¯AB

https://dl.doubtnut.com/l/_zEGUdq21MacX
https://dl.doubtnut.com/l/_bjwlWdPMuDmi
https://dl.doubtnut.com/l/_czkYK3RgX6lR


Watch Video Solution

15. Justify that the line  line segment formed by

points given in the above three examples is

parallel to Y-axis. What can you say about their

slope? Why? i) A(-4,2) , B(-4,-2)

Watch Video Solution

¯̄̄ ¯̄¯AB

https://dl.doubtnut.com/l/_czkYK3RgX6lR
https://dl.doubtnut.com/l/_xy5lrDUnkIxq

